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Bell Ringer

Thursdav 10/10
Is the ordered p{ir (8, 2) | solution to the system? Is the ordered pair (5, -6) a solution to the system?
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se the gr to solve the system Solve the system of equations by graphing
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~ Egsential Question

How can you use}substitutio‘n\o solve a system of linear equations?
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) Core Concept

Solving a System of Linear Equations by Substitution
Step 1 Solve one of the equations for one of the variables.

Step 2 Substitute the expression from Step 1 into the other equation and
solve for the other variable.

Step 3 Substitute the value from Step 2 into one of the original equations
and solve.
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Solve using substitution

| /
S ER (o |
X 2y =-32
X2x)= - 232
Hx=-32
T 5
x=-%
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Solve using substitution

y 3 2%+ 7/ (_%_q>

=X-1
Pl e
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Solve using substitution

2x + 2y = 38 2\(4-%)’35
WY 2= 3B

N TR (3,0
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Solve using substitution

X = -2y+47
3.5% + 7y = 14

2.6(-2y+4) +t Y=+
“ly+ |y +y =14

\Y% =Y v \
ase\ —s A0 e -

October 10, 2019
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Solve using substitution.
Which variable will be easiest to solve for?

3y +4x =14
- +y=-3+2}
Y=-3+21



2 - 5.2 Day 1 Solve Systems by Substitution.notebook October 10, 2019

Solve using substitution
Which vari IS easiest to sol ?

Oy + 5X= 8 (03+6' (—7-30 =%
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Solve using substitution

Which variable is easiest to solve for?
_X+y=3 \4:-_'?,|-X \d'-'—x"-a

ty=-1 y= —| -2\
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For each system of equations, which variable
would you solve for?

a.x+ty=-7 .. bx-06y=-11 c. 4x+y=-1

-5x+y=95 3x+2y=7 3x -5y =-18
X==1"9 X= =1l + oy Y=
or - - -"()(
=-1-% |

o

11
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You pay $22 to rent 6 video games. The store charges $4
for new games and $2 for older games. How many new

games did you rent? Lhﬂ-’l(ﬁ"*) =22
Yb\22x 223
=5

12
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A drama club earns $1,040 from a production. A total of 64 adult tickets
and 132 student tickets are sold. An adult ticket costs twice as much as

a student ticket. Write a system of linear equations that represents this

Situation. What is the price of each type of ticket?

K‘-: price adueld ‘h?h"‘ %_IATEt
y Ut gpalk g

(2y) +132y = [, 04O
123y +132y = LORO

S vEt

13
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There are a total of 64 students in a drama club and a yearbook club.
The drama club has 10 more students than the yearbook club. Write a
system of linear equations that represents this situation. How many
students are in each club?

14
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5.2 Substitution hw pg 227-228 #s 1, 2,
3-19 odd, 25, 32

15
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